RESIDENTIAL TOP
BRACKET FASTENED
TO END STILE W (4) 1/4" x 3/4"

o # OF STRUTS PLACE ONE STRUT ON EVERY SECTION

6’ to 8 4 STRUTS
8’3" to 10' | 5 STRUTS
10'3” to 12" | 6 STRUTS
12'3" to 14’ | 7 STRUTS
14'3" to 16’ | 8 STRUTS
16’3" to 18’ | 9 STRUTS
18'3" to 20" | 10 STRUTS

TEK SCREWS /

el

TONGUE AND %
GROOVE SEAL =

INSIDE FACE—"
OF STILE
&

20 GA. 3" STRUTS FASTENED — |
W/ 1/4" X 3/4" TEK SCREWS

DV
DOOR
HEIGHT

&

SINGLE CONTACT
VINYL WEATHER
SEAL
N
SECTION A-A 2 ST 162" MAX. DOOR WIDTH
N INSIDE ELEVATION !
><
STRUT
(AS REQUIRED)
14 GA.TOP BRACKET. 94—

NOTES:

ATTACH W/ (4) 1/4"x3/4"

* DOORS & HARDWARE WILL BE DESIGNED & MANUFACTURED & INSTALLED ACCORDING TO
STANDARDS ESTABLISHED BY THE DOOR ACCESS SYSTEMS MANUFACTURING ASSOCIATION

(DASMA).

TEK SCREWS

*IN DOOR SECTIONS WHERE WINDOW LITES ARE INSTALLED, STRUTS MAY BE RELOCATED

OVER HINGE LEAFS TO AVOID OBSTRUCTION.

* AN INSIDE SLIDE LOCK SHOULD BE MOUNTED ON END STILE APPROXIMATELY 31" FROM BOTTOM

OF DOOR ON THE INTERIOR LEFT.

4" SIDEROOM REQ'D

STEEL MEMBER~_ [} - | 5/16" SHEET METAL
NG00 SCREW OR WELD
[ boOR sECT. CONTINUOUS ANGLE
TRACK BOLTS
\-HORIZ. ANGLE
VERTICAL TRACK
RADUATED END HINGE
& ROLLER
STEEL JAMB DETAIL (TYPICAL)
SECTION 'B-B'

TOP BRACKET DETAIL

514 GA. BOTTOM BRACKET

| _ATTACH W/ (4) 1/4"x3/4"
TEK SCREWS

SHORT STEM WOH\HMW\_H,_I

LONG STEM ROLLER

A
\J

BOTTOM BRACKET DETAIL

3" SIDEROOM REQD

N

e A
MOUNTING PAD
11 GA JAMB BRACKET
5/16" x 1 5/8" LAG SCREW
TRACK BOLTS
HORIZ. ANGLE
VERTICAL TRACK
GRADUATED END HINGE
& ROLLER

WOOD JAMB DETAIL (TYPICAL)

vUOOW SECT

SECTION 'B-B'

DETAIL 1/S1.1

DETAIL 2/S1.1

A

[cococcococoo00d
R GROOVED CABLE DRUM

ON LIVE SHAFT
%

6666066006606060]

BACK HANGER
" BY OTHERS

opooooooo

¥ 1

30" (MAX)

HORIZONTAL TRACK
HORIZONTAL ANGLE
VERTICAL ANGLE

TOP CORNER BRACKET &
ROLLER

T TOP DOOR SECTION

2 T HINGE & ROLLER

24" (TYP)

JAMB BRACKET

@l

T

24" (TYP)

g

10”

5/16" x 1 5/8" LAG SCREWS

_ BOTTOM CORNER BRACKET

b 1IL—" & ROLLER

P

SINGLE CONTACT VINYL
|_—" WEATHER SEAL

SECTION THRU OPNG.

14 GA. HINGE

i

3]
o

ATTACH W/ WAV 1/4"x3/4"
TEK SCREW

1,

END HINGE DETAIL

J

4" ROLLER

ATTACH W/ _E:xw\b/v
TEK SCREWS

<

STRUT- ~#6 x 1 5/8" DRYWALL SCREW
o r5/16" x 1 5/8" LAG SCREW

Vv

e

Vv

r 11 GA JAMB BRACKET

A
\J

STRUT DETAIL JAMB BRACKET DETAIL

DETAIL 3/S1.1

DETAIL 4/S1.1

DETAIL 5/S1.1

MODEL: RS-25

DESIGN PRESSURE +12.4/-13.8 PSF
TEST PRESSURE +18.6/-20.7 PSF

TESTED PER THE APPLICABLE REQUIREMENTS OF:
ASTM: E 330 ANSI/DASMA 108-2002

Do o

northcentiral

R C O MPAMNY

BEMIDJ, MN 56601

ENGINEERING DRAWING

NOTE: THE DESIGN OF SUPPORTING STRUCTURAL
ELEMENTS SHALL BE THE RESPONSIBILITY OF THE
PROFESSIONAL OF RECORD FOR THE BUILDING OR
STRUCTURE IN ACCORDANCE WITH CURRENT BUILDING
CODES

TTLE

16’ 2” MAX. WIDTH WIND LOAD RATED DOOR
MODEL # 24 & 25 gauge mm,m\m ._10. 3 =
SCALE — N/A

DATE




